NOILVAI IS > Wy,
AN LO9HOS = w3, &
| INNOW 3A337S e N R m
ON ONIAVAE Y3 Vo4 JONY Hmmmm H
12 40 L - siiid g s :
¥3ANOT AWLO9HIS Sggssy & = E:
ON_133HS _ unl QUG 85E 5 5,8
pZil atres MSNCOL G e Ol 8388% eds
31935 “SHI0M DY) 300[ aY] -\ H mmm
o o
0102758 Sl EUUTTIORINT &~ Lt

®

CB) . i
_nWT%a%%ﬁaa@%@@@@@%&ﬁﬁ@@@@%ﬁﬁ@@@&ﬂ%_m
&3 & :
= : @
m m
WL g 8
L Nttt -
i :

- AR RS Ay AT AR AR ATIARART AR
N e R e
g
g
& ;
s
= - :
p— i
S0
&
8510 LHOGH ¥IANOT VLIV XV 000'FF1 osro 82
. . osooL ©
D IHOGH 3AZTTS 40 3AISING XYW CIE¥PI Al

R, R
I I
|

JHOGH ONIN3dO H3AnNO




<
AW L O9HDS NOLLAT 1S Sre N
ON ONIMYSO (092 Hmmmm
INNOW 19NV SNONNILNOD = FEEL P
lc 40 ¢ S m..mm.w s g
4IANOT AWLOIHOS o SEISST L s
ON_133HS 31111 Emmmmm m.mm
bl \Of #3883 gl
31928 <SYHIOM 10U} %00| ay| m 1
o_omxmmhm mw_mzzz% =1 U EwY /mw\)/\ 238

AUG 29 2083

ﬁ\J ﬂw

WAAAAQAAAAAAQAQAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA AA& |

S
VERTICAL

pef =
-
I S
:
5
m N e ] e e e el e e ] o e e e o o B o e o o e o Mm m
=B
B w
%”rum_w
LY I T T T T T AT T it T mm
®
L=
. IHOEH ¥M3AN0T TYNLDY “XYIK 000'F L 250 OL mm




NOILVAT 1
AN LOSHOS ©
| INNOW 3A33TS S s
S INVEA FONVTS o s3es
Ea...m...m
£s3%8
¢ 30 ¢ 0¥ —ADA/M ¥3ANOT AWLOSHOS Soeggs & &
DN _L33HS 3L0L Q Nmmmsm 5.3
vi-l 0Lb¥S NISNODSIR 0131100 EmMmmm eds
37998 «SHIOM 10U} %00 8Y] S R £es
00T/ fY S| ELLTICRIRT S | ) ‘

16
43/2)
i [N
11
!
|
=0
17
3/2

L

0.158 ——t—=—r

36.000 MAX. ACTUAL
LOUVER WIOTH

36.000 MAX. ACTUAL
LOUVER WIDTH

36.000 MAX. ACTUAL
LOUVER WIDTH

.
OUTSIDE OF SLEEVE WIDTH
UNUMITED LOUVER OPENING WIDTH

38.000 MAX. ACTUAL
LOUVER WIDTH

36.000 MAX. ACTUAL
LOUVER WIDTH

r L
- 2R
[

=

36.000 MAX. ACTUAL
LOUVER WIDTH

e

e
e _J_b

—=1=— 0.158

-

9510 LHOIZH HIANOT TVILLOV “XVIt 000°F¥L e 8°
080 OL ogo oL ©
S IHOGH JATIIS 40 3AISLNO XYM SICHHE oo

IHOEH ONINGEC M3IANGT




f——

r—="

HORIZONTAL

/23 /24 CROSS SECTION

& D -
¥ % 3 ¥ ¥ ¥ — & ¥ = & |
I L I 1l !

0.125 TYP,
TO 0.375

LOUVER WIDTH

g g
2
E é
)
¥
" )
ER
ao
pet =3
0.125 TYP, __|
TO 0.375
| 36.000 MAX. ACTUAL | . 36.000 MAX. ACTUAL ___| . 38.000 MAX. ACTUAL __|
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
0125 TYP, __| L 36.000 MAX, ACTUAL _ _| . 36.000 MAX. ACTUAL _ _ | L. 36,000 MAX, ACTUAL _ _|
TO 0.378 LOUVER WIDTH LOUVER WIDTH

UNUMITED LOUVER OPENING WIDTH

&

-——
A« W
y
1
i
b
b
I
]
:fi}
i
i
"H! ——|
E\Hj
o 'Y I (20
i FI /2
v I
7
I
i
I
I
I
(3
I
13
I
i
i
y
&
1Y -
i
I}
&
] ul W
|
YERTICAL
CROSS SECTION

8/25/2010

DATE

MES
1:24

SHEET NO

DRAWN BY
SCALE

4 OF 21

CAD DRAWING NO

SCHEOTMD

The look that works®™
SCHOFIELD, WISCONSIN 54476

715-359-6171

ROIENE

A

-

SCH601MD LOUVER W/VCD—-40
CONTINUOUS ANGLE MOUNT
ELEVATION

TITLE

Texas Fi
L. David

RICE

ENGINEERING

105 School Creek Teail
Luxemburg, Wi 54217
Phone: 520.845.1042
Fax:  920.845.1048
WWW.TICE-INC. Com

m No: F-2193
Rice

AUG 29 2013




HEAD DETAIL O
m LOUVER HEIGHT < 144 N, @ -
HED DETAL - BUILDING STRUGTURES INCLUBE. BT RGT 7 9
B g 1A_\ LOUVER HEIGHT < 144 ™. #| UMITED TO WOOD FRAME, STEEL STUDS, Q —
S & W STRUCTURAL STEEL AND CONCRETE/MASONRY o o~
2 g (BY OTHERS). ey O
FE @0 ; 2 o) L=
88 3 0 /. 28/ T8 p gPA%]ﬁb 8,/CONNECTION O 2 5
‘I ‘I s o b T y 4 WELD PERIMETER 2 O
- > @ CAP L0l Ng W T
. h: N = = —
N 5] ;- A - (7) =2 X O
125,71 . 2 2 |u a N
' T x B & S
8" 0.C. B '"I
v SPACING =
(““’ o T A
0 Lo ALTERNATE REAR WELD LOCATION 5.0 <t
2571 125/ 0.75" @ NI b5 \7
C)Z
. R -
O =t > LW = -
(8) Sgdl S5 3 Z 0
' IIC"TYPICAL @ BLADES I @ ’:[ _zg.g O < 2 -
o] R . B i
L ™)
T 1/HEAD, BLADE, SILL @ 22 O -
X f\? —on = % w O
. a — = n
§ o = ﬁ =
E @ < L N
o & 53 i = ()
ALTERNATE REAR WELD LOCATION E N o3
g g Ju 1257 0.75" || )
g 32 18" 0.C. | / ~
SPACING | E %
| =
I / RI
| b ENGINEERING
[ 105 School Creek Trail
| ] Luxemburg, Wi 54217
Phone: 920.845.1042
I Fax.  920.845.1048
! WWW.HCE-INC.Com
| Texas Firm No: F-2183
| L. David Rice
| Registration No: 81248
|
i
W ;
8 2 1
e 3 8" 0O.C. 5 WELD PERIMETER
g  ° SPACING 8/CONNECTION 9 @ CAP
£E I BUILDING STRUCTURE/DEPTH MAY VARY.
g & e /' BUILDING STRUCTURES INCLUDE BUT NOT
33 | 2 /| UMITED TO WOOD FRAME, STEEL STUDS, /2", LOWER RBGHT < 144
| W STRUCTURAL STEEL AND CONCRETE/MASONRY 28 . 4
] (BY OTHERS). 2/ 6




()

JTETYPICAL @ BLADES
e 251

2571

HEAD DETAL BUILDING STRUCTURE/DEPTH MAY VARY.
0 3 LOUVER HEIGHT < 9§ IN. v BUILDING STRUCTURES INCLUDE BUT NOT
5 g VY UMITED TO WOOD FRAME, STEEL STUDS,
S 3 \»/ STRUCTURAL STEEL AND CONCRETE/MASONRY
Be @\ (BY OTHERS).
cE
Rgs h 558 6/CONNECTION
| 5 T S d 257 17=10" -]
| e g
= . Z _ [
{ PRy = I
5 2571 = N\
Yy l\‘ |
o O
() ALTERNATE REAR WELD LOCATION |
12571 1251,70.757 ;

@
O

4A

LOUVER HEIGHT < 96 IN.

)

Lt
E x ALTERNATE BLADE REAR WELD
% 7] 1251,70.75
& gs |
4 Sy |
E 22 2 |
= 18" 0.C. f
2 SPACING |
: |
| q_(:D
:7) |
|
|
|
l Lyl
ZSL]'/ -8
I
l EZ)
|
pii ' '
7 | e e ———————
o i g 3
hds 6,/CONNECTION
g =3
€ E BUILDING STRUCTURE/DEPTH MAY VARY.
n 8 ' BUILDING STRUCTURES INCLUDE BUT NOT
5o SILL DETAL 2| LMITED TO WOOD FRAME, STEEL STUDS,

STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

HEAD DETAIL
38 \ LOUVER HEIGHT < 96 »yg,@/@g

"3 WELD
INTERIOR
@ CAP

o

3 WELD

INTERIOR
@ CAP

SILL DETAIL
LOUVER HEGHT < 96 IN.

Nz

o
o)
(N
S o=
N @\ X
Sl | L 3
GT—
=
OUO
21N 2 ©
29 JECE T
o N R
s B | g U
[ I [ 7 T L% o
©
'U”'z.r“f ()]
23 VI
}jgzﬁi L
2
§§;§§ZB
o =2 =
dg%Ba‘éog
oF PEE
Q
m2£§E§LIJL._|Q
0 — O >
o = W]
o < W 5
& |23,
<]
()
U 3
)
<
Ll (|
= T
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 92(.845.1042
Fax:  920.845.1048
W, [Ce-Inc.com

Texas Firm No: F-2183
L. David Rice

Registration No: 81248 //




O
O
o~
S Y
w N N -
N\ B i 7 B e = " =
= Y Sk S
SUBSTRATE LIMITED TO WOOD, HEAD) IS FOR SUBSTRATES WHERE MINIMUM SUBSTRATE LIMITED. TO WOOD, HEAD) IS FOR SUBSTRATES WHERE MINIMUM N Mg =
STEL CONCRETE M epg g | EASTENER SCE DSTACE CAN B2 ACHEVED, A oy M mgmeeo BRtume i pe or. (5| o |0 2 T
MASONRY (CMU) (BY OTHERS). DETAIL IS TYPICAL FOR BOTH HEAD AND Sl %Ag‘._nolsusmcg.‘ ﬁ" BOTH LF_HEAD AND SILL z=l |5 % O
CONDITIONS WHEN APPUCABLE. 2 |2 |w a N
o o T <L
,® ‘/® = %) ) &)
/ ! I ,/@ = 7
1_ g | 1_ T lT Lt © — g 0
I" -I_”J_ A~ = (@)

5 | 5 | T | i Rem weitb qeimon L3 = =V

: . 1 It /—nstﬁ'—ﬁEr* 57 oM T

: o s seo ooy || g AT 0 2l X2 T

3 TBL70.75 | R 5 1231 bl ..55 g = -

8 2 .

: @) /! ’ I =25 D Wwo» 9
(,\) IR =5 2 22432
© WPICAL & BLADES | SS T OO = <[

] n BY= P | “ l \@ Qg% = li: Li-.l_..]
@ 31 /BLADE, HEAD,SILL | 1 1/BUADEHEAD,SYL @ 02h O < W A
| —an = ()
— U -
E 2 o D -
! ALTERNATE REAR WELD) LOCRTION ] o O :| 6
g ALTERNATE REAR WELD LOCATION 1257 0.75" >
- am0s | S < g >
18" 0.c. <
g SPACING li \@ N £ 3 3
' =
| & 5a %
| L Q 5 Lfl
e | p /® I = T
8 | ; O A3 =
I R @68 6/END

R !

. 2R 8/END 1S s N oz RICE

! 2 |~ Sr———

g i . /69 ENGINEERING

; i

= : = L Ly X : 105 Schoot Creek Trail
Laxemburg, Wi 54217
# \ g \ Phone: 020.845.1042

Fax:  920.845.10438

WL FAICE-INC.Com
EXCESS MATERIL BEYOND FASTENER EXCESS MATERIAL BEYOND FASTENER w
gy Ry To BE SUBSTRATE LIMITED TO WOOD, Nt e S Texas Finn No: F-2183
SUBSTRQT.FN UMHEDANTg WOOD, ; REMOVED (THIS LEG ONLY). STEEL, CONCRETE AND j (THIS Y). Jexas Finn to:
MASONRY (CMU) (BY OTHERS). /® MASONRY (CMU) (BY OTHERS). Registration No: 81248
<Y i < 4
MULLION ANGLE MOUNT (SHOWN HERE AT S <RhY ]  MULLION ANGLE MOUNT (SHOWN HERE AT SILL
il S M A W IS FOR SUBSTRATES WHERE MINIMUM FASTEN
EDGE DISTANCE BE ACHIEVED BY USE EDGE DiSTANCE CANMOT BE ACHIEVED BY USE
y  OF HOLES IN THE MULLION END CAP. DETAL <muyswi—f  OF HOLES IN THE MULLION END CAP. DETAL

IS TYPICAL FOR BOTH HEAD AND SILL
|| CONDITIONS WHEN APPLICABLE,

IS TYPICAL FOR BOTH HEAD AND SILL
] CONDITIONS WHEN APPLICABLE.

m&mmmmuu mhmm:-u

z/ \z/




AW L O9HDS STvLi3a gnvr nNu
. INOOW JA3FIS Sas
ON_ONIAYT 0¥D Emmmm
B ERERIN AL Q3P os
|5Mm °
e 408 ¥3ANOT AWLOIHOS S95e5e & &
ON_133HS __ 37111 X NwWe g4 P
¢l 8LbbS NISNODSUA qT3150H0S : E%mmm_m t8s
ERCAN ~SYJOM JOY} 00| ay| m i .mmm
007/ Sl EWFICRINT S | &

N

i1

18

125

1/ BLADE,HEAD,SILL

=

6" 0.C.
SPACING

25

/2

L S

125

6" O.C.
SPACING

3\ &

/®

RN

-

ﬂ_ﬁ@ aw &Ccccmccccd_lﬂu_ Eh

ACTUAL OVERALL LOUVER WIDTH,

INSIDE OF SLEEVE

OUTSIDE OF SLEEVE ———
r——————LOUVER OPENING

12" 0.C.
SPACING

&

(SYIHLO A8)

AMNOSYIW/IALIUONOD ANV 133LS TVANLONHLS
‘SANLS T33LS “INVHEL QOOM OL1 Q3LIAN

1ON 1N8 3GNIONI STUNLONYLS ONIAIINS
‘AMYA AVW HLd3Q/38NLONNLS ONIQINg

o

0.156 — =—— ACTUAL LOUVER SECTION WIDTH, ——

0,125 TYP, TO 0.375 —

/o JAMe peTAL

SUPPORT DETAIL
m LOUVER HEIGHT < 144 IN.




®)
)
N
N —
¥ N0
=N =
S0 L =
O Lk o
SUBSTRATE LIMITED TO WOOD, 2 O
STEEL, CONCRETE AND MASONRY Ll NEg o T
(CMU) (BY OTHERS). mg| o~ <
prd L = =} (_)
N g 5 =
(= %) 2] (5]
2 0.75 MAX p
I Lo =
T 1/BLADE,HEAD,SILL ) &3 Z
}—+—1 SPACING S> | or O
2w =
= d —-‘C?b’—f'_ % (I ﬂ
;I"'-
~x_3 O =
<Z """ @ Egé — % D
ALTERNATE ORIENTATION — | ._@ é%é % < O
(CAUTION, BOLT CLEARANCE) g N2 -
o 2 >
© O <T
“_(:) g Ir > —
O Z
Vv E
A25)/ 2.5 =
O
O
N poye 2 RICE
‘ — ENGINEERING
195 School Creek Trait
o125 TP, To 0375 — |- ACL OFL LonR v \@ e 93045 10t
LOUVER OPENING

Fax:  920.845.1048
Www.rice-inc.com

Texas Firm No: F-2183
L. David Rice

JAMB DETAIL SUPPORT DETAIL Registration No: 81248
1 LOUVER HEIGHT £ 144 IN. 12 LOUVER HEIGHMT < 96 IN.

o Goar ) /7

<

_1'. Py . 0'-'
AR A
WEONAL e
\\\\\:\‘-"’1

AUG 29 2013




)
o
g —
Te) N
w N Q
&9 49 /O /@ §O = I T
X AL L 7 Ol —
N7 _ 18" 0C. 6968 =z %
8/CONNECTION |[! SPACING ) , O |2
/ @ al c:% — I I
0| O . b E E 3
18" O.C. 18" 0.C. = s IS5 K 2
SPACING % 2 SPACING O D e =
2 % €78
; Q|0 | ® 6/CONNECTION| (O © T
4 ? 23
% @ @ @ @ g2z | @
/| g 5| S we d
9 A I S| | £24 D = % <
» / / ~_ o O < —
6" 0.C. M3 . 3 Sgl 0 X QU
SPACING =1 7 /|| SPACING : @ 21 o =
- 3 S8R = W =z
2 = L = ! Q£
= © <<
- \ Z T o pn 2
—® 4 7
%‘—@ & :
{:j A25,7°2.5 2517 2.5 ;:
! I ] ENGINEERING
E ‘—@ B :, 105 Schoot Creek Trail
Luxembuwig, Wi 54217
q ) @)\ - s:hone: ggg.ufmmz
3 .845.
l [\J:B:II] | l E:E:I] | w?w.rice—inc.ccm1 e
Tlexas Finm No: F-2183
@/ "\ EXPANSION JOINT OF UP TO 0.25 MAY ®/ EXPANSION JOINT OF UP TO 0.25 MAY Li David Rice
BE USED ON LONG OVERALL WIDTHS. BE USED ON LONG OVERALL WIDTHS. Hegistration No: 81248 .
— ACTUAL LOWER SECTION WIDTH -——— ACTUAL LOUVER SECTION WIDTH ——— — ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIDTH ————

ACTUAL OVERALL LOUVER WIDTH ACTUAL OVERALL LOUVER WIDTH
ed
Zain
=z
- *..'
WULLION DETNL MULLION DETNL 5-?-;-—--...
mwwmuacﬂrmum. @Mumsuu 7 7
10/21 10/21 (""."' SR el 1
) o -
U U " . /- A oy 8 0 .'_.q?!
bt Ly
R e
NS =
7 N IONAL BN
My et

AUG 29 2013



o N
AW L OIHOS JYLSH 'STIVIIA NOMINW m- %
RS INNOW FTONY SNONNILNOD Wmmmm
N s5%% .
1Z 40 L1 IEHEE
d3ANOT AWLO9HOS Ogsedy & o
ON_L33HS | QS A5E, 5 548
G¢C L aLb¥s NISNOIEM ~TIA1I0HOS C 83553 m E m 8
3793S =SHI0M J0Y) %00] 3Y| m mmm
xQ
oam\mw% SIN 1 EUTIOWTRNY <’ et

HUOM HEANOT TVIEAD VNIV

HEUOW NOUI3S ¥EAN0T WUV

'SHIGM TIVIA0 ONOT NO @3sn 38 /-
AYW SZ'0 OL dNt 30 INIOF NOISNVAG \@ %
s N\

HIOW HOUD3S M3ANOT WY

S21°

aOo00a0n00s

UUU

]
e
_ M
S © o 3 @W
mo Wo ' ol o |

E
[

o T T T — AT T T T i

3903 3LVYLSENS

O O O O

vy
4

@\ Q\@% q “TIAVONddY NIHM SNOWANOD
TS GNV QV3H HIOB ¥O4 TYOIdAL SI

7 IvVI3Q  “dvO QN3 NOITINA_3HL NI SITOH 40

3ASN A8 Q3AIIHOVY 38 LONNYD JONVLISIJ 3903
H3NALSYY WAMININ 3uIHM SILVHISENS HO0d SI
(THS 1v 343H NMOHS) INNON JIONY NOIMINW

HLOM H3AN0T TVGAD TNV

HLOW NOLLIES ¥3ANCT LDV

‘SHIGIM TIVHIAO ONOT NO G3Sn 39
AVN ST0 OL dN 40 INIOP NOISNVAQA \® \@

HIM NOUDES WIANDT VLY

@l
@l
®I

o
o
0
0
E P_TUU = SUUUUAUOUNS
0
o
0
o
@mmxmu

NN NN NN NN
©
O
©
8
g%

MULLICN DETAL

MAX. 42850

ENVAANAANANNANN

39d3 31vHLSaINS

ONIJVdS
‘00 81

o\ @ “TIEVONddV NIHM
SNOLLIGNOD TS GNY Gv3H HLOB ¥04 TvOIdAL

S| WvI39  ‘dvD AN NO[TJAW JHL NI SITOH
40 3SN A8 Q3A3HOV 38 NVD JONVISIa 3943
MINALSYS WNWININ ¥3IHM SIALVHLISENS Y03 Si
(TUS 1v 3uIH NMOHS) INNOW LO3MIA NOMINW

AUE 29 2013




AW LOIHDS SO6>H STNVLIAd NOIMTINW W
TN _ONIAYAT (92 m..,.mﬂmm 3
INNOW F1IONV SNONNILNOD b -1 Y
12 40 2l S3:88f ¢ o i3
dIANOT ANLOIHOS Seoegf &
ON_L33HS ERIM Nmn..gm L3 >
S¢-1 9Lb¥S NISNODSA 0131500 E E%mmmm £8%¢
ERCAR ASIOM 1DU) %0O] au] Wl 8368 gL
o_om\m.ﬁm ST =y r:@Mwlﬂ_:/ww\n’/\ M §a5 WMinas™

HLOW BT TVIEAD TVIULDY

WULLION DETAL
/158" LOWER HOGHT < 08 N,

JNVISK
300 WNGELSYY

O 0/ 0 L o 1\0 |©Y
3943 u_.épmm:m\ mW @\ @\T @/@ 9 Y] mw

ana/9

‘FNYONddY N3IHM SNOLLANOD
TIS GNY av3H HLO8 ¥Od4 “TviidAL SI
/ VA  dv0 ON3 NOITINW_3HL NI S3T0H 40

3sn A8 Q3A3IHOV 38 LONNVD 3DNVISIO 3903
YIANILSYE WNWINDYG JMIHM SILVALSANS H0d SI
(TS 1v 3¥3H NMOHS) INNOW FIONV NOIMINW

HIOW 0NN TMEAD TNLY

HIOW NOUIES H3ANGT TWLLY |
"SHIQWM TIVMEAO ONOT NO 3SN 38 L \@U
AYR GZ'0 QL df 40 NIOP NOISNYAX3 \@

[k N

HLOIM NOUDES A0 WV

ﬂ;\ LOWER HESGHTE < 98 I
&)

NIOVdS
0 L9

3903 Eépmm:m\ @\ @\ | | %w&%%
Q “TNVIMddy NIHM

SNOLLIONOD TIIS ONV QV3H HLO8 MOd TvOIdAL

Sl V130 dvD GN3 NOIMINW 3HL Nt SII0H
40 3SN A8 CIAIHOV 3@ NVD 3JONVISIA 3903
HANZISVA NNANININ 343IHM SILVMHLISANS d04 SI
(TUS 1v Jy3IH NMOHS) LNNOW LO3¥I NOIMINM




(@]
O
N —
Is) N
o 0| )
'—-
160\ LOUVER FEIGHT £ 144 1. = 00 L =
HEAD DETAL g —
@ mmmsmu O = ®)
\am/ S w0
2l ol < 12 T
z = |u—|- 2 QO
= —J ﬂ - (.f)
= S T <
o] (%] {1 (]
= 6" 0.C. | = Q=
SPACING Foc = 2 % =
SPACING 2.2 I
O 5 1] 83| A © 8
— 0 2 Uj
6)e ]:I 2z | © =
12" 0.C. —Z L <C
5 ™~
SPACING E%; = |_.>_: 5 E
=
:F =55 H 2o
osll  H =Z
Owin | 8] < 1
L M \\
LM = -
=38 D 2 v @
02~ S L 2
=3
4 g r £ O
=l = <
) 8 QT
O
JE Z
"R S
=Y
RICE
ENGINEERING
105 School Creek Trail
68" 0.C. 12" 0.C. | 54217
SPACING SE @ SPACING |1 il Enone: gzgég:s?:ozu
°R® SR é Fax  920.845.1048
— |l T 12" 0.C. WWW.TICE-Inc.com
\ﬁ-\ ’JIHH:IE SPACING \._ SPACING .
Taxas Firm No: F-2183
T i L. Davig Rice
2t a RzJistration No: 81248
/A
SLL DETAL SLL DETAL
mmm:mu 19 \ LOUVER HEGHT £ 144 IN.
\own ) \om/

AUG 29 2013




Q.

—_——
—

(o

——

/ O
NN

i

%

=
\

(@)

MANUAL QUADRANT ACTUATOR AS SHOWN
NOTE: DAMPER MAY BE OPERATED BY
MANUAL QUADRANT, AN ELECTRIC OR
PNEUMATIC ACTUATOR.

1o

prsiii

.
<)
~

)

Ny

———

JoR

B

—_—
——
—_—

Q

.
———
—

@

;I—]
S—

\ 1

S
@-

é&;@ 3/ACTUATOR ASSY. AND 12" 0.C. THEREAFTER w

O
O
Q —
Te) QN
nal Q
< 00 L =
O |g 5
2 O
%) < |5
=wl N2 2 T
ZEL.J i = )
R E BV
(=] (%] 3} [ ]
NN %5 o
=5 O
Pile &
2| <
53| W =
o I
- W0 2 <
°9$ <
O
Q-)czju% <
(‘\258: O >
0 'ili‘ O
- —
< ) <
- D
=
) =
=
L)
|
'_
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 820.845.1042
Fax:  920.845.1048

Texas Firmn No; F-2183

@ ALONG LENGTH OF ANGLE TEM #44

.. David Rice
Registration No: 81248 %

AUG 29 2013




VCD-40

T
%

0198 —

0.128 TYP, TO 0.378 —

0 MSEX OF BLEEVE —————

| ACTUM. OVERALL LOUVER WROTH,

8/CONNECTION
) ©
/O
o
e e
O oo
N
. ~ & ocC. ‘é y
SPACING
EHH-601D

U
*lnnnnnnnnnnnn

P

/

D@PANSION JOINT OF UP TO 0.28 MAY
BE USED ON LONG OVERALL WIDTHS.

o
S
~ A
o) N O
=N
fam
=%re) LI_.E
Ogg
e
0w
I
R
: 5 K 2 U
(= T [ 7 B [ ] (&)
e
<t N
W) 55 | A =
Sol O —
58| > w ke B
= =
o = = -
d—*‘-r" < 2
S @ O 9
o83 L o 5
ok EERE
@'_‘"oo>z
] —Izﬁ
S SWo
) o =
=
10O e
=N
-

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax:.  920.845.1048
Ww. TiCE-inC.com

Texas Fim No: F-2183
... David Rice
Iagistration No: 81248

AUG 29 203




(]
O
g | =
Te) N
W 2
|_
< 00 (I =
O g —
j O
(@)
sl 2 — B L
= L = =1 Q
MULLION END CAP NOT SHOWN FOR CLARMTY Z |12 o a (N
[n% 48] T <T
=] [7g] [#g] L)
MULLION END CAP NOT SHOWN FOR CLARTY
o (]
.38 3 S
- 2.5 = =
i Wz a3 =
6° 0.C. ®\ R = 2z | € Q E
SPACING (37) Z ] ]:‘_JQ \>\ = )]
gy ] =9
Q ‘ 1| ; 9 Sog = Wl -
A . L/ [:[ v .© —
\ ' /| Ssil v O O
=== Z o83 W o=z 3
4 g = < =
i {8 veo-40 2 =37 2 )
) i /j VCD-40 O =
12 oc. Z =4
ACING — - 3 A
< = = O é ) - = 2 <ZJ:
ALTERNATE ORIENTATION gp A%ic. = =
(CAUTION, BOLT CLEARANCE) = EHH~801D EaoTn O E @
..—@ -601
WO © =
= =)
|,_
suasm&;uurreomrgwooo. é
(CMU} (8Y OTHERS). RI CE
®\a‘mﬁ T _ e ENGINEERING
L_mmmm r 1058@0@(‘2‘;8'&;4'218:;
0128 TP, 7O 0378 — —rr— 1 burg,
METUAL xmm 69/ l:‘: aemm mmlgn OF UP TO 028 MAY Gg Plrj:c(:e;-rzz Légo.ms.wﬁ
—— ACTUM, LOUVER SECTION WDTH =

[~=— 0280 Fax: 920.845.1048
e ACTUAL LOUVER SECTION WEITH ACTUML LOWVER SECTION WOTH ————— WWW.[CO-ING.COM
ACTUAL OVERALL LOUVER WITH ACTUM, OVERWLL LOUVER WOTH

I MALON Texas Firm No: F-2183
a.mmll'ilr‘mu ™ m&‘mu F£™ M&tuu L. David Rice
& =/

Registration No: 81248




NOTES:

j. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN AND HAVE CORNER
CONSTRUCTION AS DESCRIBED ON ALL SHEETS.

2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE
RECTANGULAR LOUVER PANELS AND MAY BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.

3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE
SUPPORT ANGLE AND BRACKETS ARE REQUIRED.

AVAILABLE SHAPES

E=

oy [2UE

D 11> [,

O
]
N —
D QN O
L._IQ
}...-
= 00 L =
O g -
: D
s A =
|l B — 2 LT
==l o 5 O
s B 2 N
= [75) “? O
2. 2
1 g3 o
o
]:\ =2 | | N
=5 | W o Lol
23 > O o
ﬂygt 3 > -
Ssil O I
_O§§ 1 e 7))
DT N D Lot
— i~ E g 1
2% B
— o 2 S
O = =
& |2 2
N <
< =
L
_t
'_
=
ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.545.1042
Fax:  920.845.1048
Texas Fim No: F-2183
... David Rice
Registration Mo: 81248 %




TTEM DESCRIPTIGN MATERIAL NOTES ITEM |CONCRETE | CMU [STEEL]WOOD|__ MIN, FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS 9
1 LGUVER HEAD 6063-T5 ALUMINUM 52 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER] # RGD. [CENTERS] EDGE JEMBED.* o
2 LOUVER BLADE 6063-T5 ALUMINUM 2.125% MAX. SPACING Seh X 2KST “POVERS_WEDGE BOLT’ 3/8 | VARIES| 600 | 1215 | 3500 ~
3 LOUVER SILL 6063-T5 ALUMINUM 528 X 4KST *POWERS WEDGE BOLT’ 3/8 | VARIES| 6.00 | 1215 | 3.500 . —
4 LOUVER JAMB 6063-T5 ALUMINUM - Sac X 2KSI SCOTS TAPCON / TAPCON 174 | VARIES| 4.75 | 1.500 | 1750 Tp! N O
5 LOUVER/DAMPER_FLANGE €063-T5 ALUMINUM } S2D X 4KST SCOTS _TAPCON / TAPCON 1/4 | VARIES| 600 | 1500 | 1750 L O
6 FORMED SLEEVE 5052-H32_ALUMINUM 1/8° FORMED SLEEVE-DEPTH VARIES | | S2E X “1.5KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 300 | 1.500 | L.750 = L =
74 1172 X 1 1/2 X 1/4 ANGLE S063-TS ALUMINUM BLADE SUPPORT ANGLE S2f X 65KSI Fy|BOLT/NUT DR TAPPING SCREW] 1/4 |VARIES| &.00 | 0500 | 012% = 00 R
7B 11/2 X 1 1/2 X 1/4 ANGLE €063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF SLEEVE| | 526G X_1 SG 042 LAG 3/8 | VARIES| 6,00 | 1.500 | 2.375 O =
8 11/2 X 6 X 1/8 ANGLE 6063-T5_ALUMINUM JAMB ANGLE 53 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RGD. |CENTERS| EDGE JEMPED.® - O
9 11/2 X 1 172 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF LDUVER| [ 53A X 2KST "POWERS WEDGE BOLT” 3/8 | 8/END | 130 | L75 | 3.500 z O
10 11/2 X 1 172 X _1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL OF SLEEVE FLANGE] | S3B X 4KST ‘POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3.500 . & g O 3 T
11 3 X 6 X 5/16 STEEL TUBE A36_ | 53C X 2KST SCOTS TAPCON / TAPCON 174 | 9/END | 200 | 150 | 1625 A < v g
12 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT SILL AS BACK OF SILL PAN Sat X —4KSI SCOTS TAPCON / TAPCON t/4 | B/END | 200 | LS50 | 1625 z=<lu |- & QO
13 LOUVER BLANK DFF 6063-T5 ALUMINUM IF REGUIRED, SPANS SILL OPENING S3F X ESKST Fy|BOLT/NUT UR TAPPING SCREW| 1/4 | B/END | 100 | 0.50 | 0425 | 2 12 o a ()
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM 53G — X | SG 0.42 LAG 3/8 | 77END | 150 | L75 | 2.375 | GROUP % |8 |T <
15 DAMPER JAMB 6063-T5 ALUMINUM — S4 | MULLION ANGLE MOUNT FASTENER, HEIGHT (=144 DIAMETER| # RQD. {CENTERS| EDGE |[EMBED.*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3.75 MAX. SPACING 544 X 2KSI "POWERS WEDGE BOL1’ 3/8 | 12/ANG.| 3.375 | 2250 | 3.500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBER TYPE MATERIAL VARIES 548 X #KST "POWERS WEDGE BOLT’ 3/8 | 9/ANG. | 3.375 | 2250 | 3.500 | 3.766 —
18 DAMPER JAMB SEAL sS S4C X 2KSI SCOTS TAPCON /_TAPCON 1/4__|32/ANG.| 2000 | 1,500 | 1750 | 3.375 © —~
19 | DAMPER TOP/BOTTOM CLOSURE ALUMINUM 54D X 4KSI SCOTS TAPCON / TAPCON 174 |277/ANG.] 2000 { 1.500 | 1750 | 3.375 W L 5 .
20A DAMPER LINKAGE BAR GALV. STEEL S4E X 15KSI | SCOTS TAPCON 7 TAPCON 1/4__|32/ANG.| 2000 | 1500 | 1.730 | 3.375 =3 o 3 <
20B DAMPER LINKAGE BAR S S4F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 174 |16/ANG.| 1000 | 0.500 | 0.125 | 3.000 Sz < x
| 21A DAMPER_AXLE BUSHING DELRIN 54G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 11/ANG.| 1000 ] 0.500 | 0480 | 3.000 | X | = L
218 DAMPER AXLE BUSHING BRONZE 544 X 6SKST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 !16/ANG.| 1000 | 0.500 | 0.188 | 3.766 =5 | Y oo —
21C DAMPER AXLE_BUSHING ss 541 X 65KSI Fy|BOLT/NUT DR TAPPING SCREW| 5/16 |12/ANG.| 1.000 | 0.625 | 0125 | 3.000 =2R % O g
| 22A | NON-DRIVE DAMPER AXLE ASST. |2C STEEL PIN W/DELRIN BUSHING 54 X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 5/16 |16/ANG.| 1000 | 0.625 | 0125 | 3.766 |:r ~ .5 > D=
228 | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/BRONZE BUSHING S4K X_| SG 042 LAG 3/8_ |16/ANG.| 1500 | L500 | 2875 | 3.766 ' 294 9 O
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING S4L X_| SG 0.42 LAG 3/8 | 1/ANG. | 1.500 [ 1500 | 2.875 | 3.000 ity o D
22D | NDN-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING 55 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQGD. |CENTERS| EDGE |EMBED.* w2l A XN Z O
22E_| NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING S5A X 2KST ‘POVERS WEDGE BOLT’ 3/8__| S/CAP | 150 16 | 3500 né == = =
22F | NON-DRIVE DAMPER AXLE ASST. SS PIN W/ SS BUSHING S5B X 4KSI *POVERS WEDGE BOLT’ 3/8__| S/CAP | 150 16 | 3500 0 = Z
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV, STEEL 55C X 2KS1 *POVERS WEDGE BOLT’ 3/8__| 5/CAP | 200 | 175 | 3500 0O =
23B | DRIVE SIDE DAMPER AXLE ASST. ss SSD X AKST *POWERS WEDGE BOLT’ 3/8_ | 5/CAP | 200 | 175 | 3.500 - = O aa
24A 1/4 DIA. E-CLIP ZP [SSE X 2KSI SCOTS TAPCON / TAPCON 1/4 | 6/CAP | 200 | 156 { 1750 2 QIO < N
243 1/4 DIA. E-CLIP ss [ S5F X _4KSI SCOTS _TAPCON /_TAPCON 1/4_ | 6/CAP { 200 | 150 |} 1750 L
25 #8 X .75 TPH TYPE AB SMS s S5G X ESKST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 3/CAP | 100 | 050 | 0425 Q ~ > E
26 #14 X .75 TEK ZP S5H X | SG 0.42 LAG [ 3/8 [ 5/CAP | 156 | 173 | 2375 | GROUWP g =z L 5
[ 27A 174-20 X 125 HH CS ZP 56 | MULLION ANGLE MOUNT FASTENER, H(=96 DIAMETER] # RGD. |CENTERS| EDGE |EMBED. %CENTER L)
278 1/4-20 X L3 HH CS 3 SEA X 2XSI *POWERS WEDGE BOLT’ 3/8__| 4/ANG. | 3375 | 225 | 3300 | 3.766 W 0 <
20A 1/4=20_SF_NUT ZP 568 X 4KST "POWERS WEDGE BOL1- 3/8 | 3/ANG. | 3.375 | 225 | 3500 | 3.766 3 n
263 174-20_SF_NUT sS [ s6c X 2Ksl SCOTS TAPCON /7 TAPCON 174 | 1L/ANG.] 2000 | 150 | 1.750 | 3.375 =
29 REINFORCING STRAP 18-8 S5 56D X 4KST SCOTS TAPCON / TAPCON 1/4 | 9/ANG. | 2000 | 150 | 1.750 | 3.375 b=
30 174-20 X 562 BALL SWIVEL ZP S6E X 1.5KST SCOTS_TAPCON / TAPCON_ 174 [ 11/ANG.| 2.000 | 150 | 1.750 | 3.375 |
31A_| DAMPER BLADE DRIVE LEVER ss S6F. X €5KST Fy|BOLT/NUT OR TAPPING SCREW| 174 | 7/ANG. | L0C0 | 0.50 | 0425 | 5.766 R}' C E
31D | DAMPER BLADE DRIVE LEVER GALV. STEEL 56G X 6SKST Fy|BOLT/NUT OR_TAPPING SCREW| 1/4 | 6/ANG. | 1.000 | 0.50 | 0425 | 3.000
32 DAMPER MANUAL QUAD ASSY. S6H X_| SG 0.42 LAG 3/8 | 5/ANG. | 1500 | 150 | 2875 | 3.766
33 5/16_DIA. LINKAGE ROD zP 561 X | SG 0.42 LAG 3/8 | 4/ANG. | 1500 | L50 | 2875 | 3.000 ENGIN, EER.IN G
34 | #10 X 3/4° TPH SMS 18-8 SS 18-8 S5 Y S
35 #10 X 1 1/4° SMS 316 SS 315 Ss 1. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE F';);ne-lggﬁMSWQ
36 174’ DIA,_SS SCREW 1 1/2° LONG LOADS IMPOSED BY THE LOUVERS. Fax  ©20.845.1048
—35 71 TA 55 STREY T UhG 2. THE SCHBO1MD AND SCHEO1MD/VCO~40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND TEST © 920845
PROTOCOLS TAS-201 (IMPACT), TAS-202 (UNIFORM STATIC PRESSURE), AND TAS~203 (CYCUIC FATIGUE). THE SCHEOIMD/VCD-40 HAS BEEN TESTED wWww.fice-inc.com
38 1/8° DIA. BLIND RIVET ALUNINUM IN ACCORDANCE WITH TAS—100(A)-95 (WIND DRIVEN RAN).
39A DEAD LDAD SHIMS NOT BY GREENHECK 3. mg: SINGLE SECTION SIZE sgs 7': uﬂﬁ ;ﬂ;‘t:mm?-l.‘“ '[e;as gg; No: F-2183
398 SEALANT AND BACKER ROD NOT BY GREENHECK . ASSEMBLED LOUVER - David Rice
a0 S 1/4 X 2 X 1/4 ANGLE EOES=TSRALLMINN USED AT JAMB OF LOUVER/SLEEVE | > SECTIONS O ASSEMBLEES MAY 8E STACKED VERTICALLY PROVIDING A SUTABLE STRUCTURAL SUPPORT 1S DESIGNED AND INSTALLED BY OTHERS TO Ragistration No: 81248 /
41 __4°_CHANNEL 6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE | 8. CONCRETE MASONRY SHALL BE ASTM C90, TYPE Il, 2,000 PSI GROUT—FILLED.
42 MULLION SLEEVE BRACKET 5052-H32 ALUMINUM — 7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHCO THAT DOES NOT REQUIRE THE USE OF FASTENERS INTO THEIOT
43 | 11/4 X 1 1/4 X 1/8 ANGLE 6063-T5 ALUMINUM VIN SIZE, JAMB ATTACHMENT ANGLE | Dol THE o e o BSTRATE haT WILL WITHSTAND THE LOADS TRANSFERRED 7O IT BY THE LOUVER. AIROLITE DOES
44 SILL DAM ALUMINUM B. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. [T MAY BE
T3 FCADE SUPPORT, GPTIONAL E063-15 ALUMINON — :NSI’ALLED N CONCRETE, CUU, STEEL. OR WOOD ACCORDING TO THE FASTENER SCHEDULE. - AIROUTE DOES NOT DETERMINE THE STRUCTURAL
46 STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLIDON LOUVER ASSEMBLY iS QUALIFIED FOR A MAYXIMUM DESIGN LOAD OF +/— 150 PSF.
47 | ALUMINUM MULLION END CAP (SM) S052-H32 ALUMINUM FACTORY WELDED TO MULLION To. D;&Nym Argmm wm:r m menmm ang“ ﬁnsr wu: r'éa |.m:avmoumrwunzan:ER THE ROOM m?n%mg« mgou m m 1&
48 | STEEL MULLION END CAP Q.G STEEL FACTORY WELDED TO MULLION | ., | Given ASSEMBLY WITH THE VCD—40 DAMPER MAY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS NOT DESIGNED TO
49 | ALUM MULLIDN END CAP (LG __S052-HIZ ALUMINUM ___ | FACTORY WELDED TO MULLION DRAIN WATER PENETRATING INTO THE ROOM OR THE ROOM WILL HOUSE NON-WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR
50 |MULLION MDUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-16 MULLION MDUNTING ANGLE, H<144 GRADE.

51

1/4°_DIA, THREAD STUD

$S OR PLATED STEEL

1/2° MIN. LONG

*EMBEDMENT DEFTH IS EQUAL TO OVERALL FASTENER LENGTH FOR
IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED 8Y THICKNESS

CMU FASTENERS.
SHIMS.

SUPPLIES. LOUVER ASSEMBLY WITH VCO DAMPER INSTALLATION 1S IJHIT%TO AN ELEVATION

12, INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUI

ACTUATOR IS NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN

14. FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT,
SMS AND SILICONE SEALED. BLADES ARE SECURED TO JAM

33 FT ABOVE
‘ 13.1HEVCD-4OMAYBEOPERATEJBYTHEHANU‘LQUADWSHWNOHPAGEM21ORBYANELECIREORPNEUMAMACTUATOR.THEWPER'S
DENT TESTING AGENCY.

15. STEEL/STAINLESS~STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.

1&%&&9&7%WDOWMSUWM)AREWLYREQUIREWWLWWWISGREATER“HN

JAMBS ARE souw: wr © HEAD AND SilL. CORNERS ARE SECURED WITH (2) §10x1-1/4
BS WITH (2) §#10x1-1/4 SMS AND WELDED © EACH END.

AUG 29 203




-
-
Q —
i 5.723 . 5.723 - 6.000 - .——~r 1063 | %0 h 1 N
Ll
_ | o — By | L =
. ?O _ | O T
=
2 1 _ > 3
© 07 0.081 %) =
~ © =] = - R
X ; S =" S
T S g RBY
@ 6063—15 ALUMINUM l ﬁ LOUVER SIL| } } o 8
@ 6063-T5 ALUMINUM s © —
a @ Z
—e{ l~— 0.125 M w3 >
5 o3
o — | | 0.250 0.125 LOUVER JAMB B:xgé = |
i —] fe— (], e L v
. =) i i 6063—T5 ALUMINUM - gg_ S o0 8 0
N S i dlxE 325 2
: - dpaEe 21385
o ‘ 8 o ] ! —— Sod I 5 O
‘ 51—_ s} 6063—T5 ALUMINUM 8 - @ 08T = Q v
= o N =
N — - —{}=— 0.125 OPTIONAL JAME "E?'Eg“ =
f f * : { 6063—T5 ALUMINUM - = —
1.741 L | f I 8 8 % 0
: —{ 1.500 | 6.000 S < = 5« S
LOUVER/DAMPER FLANGE R BLADE SUPPORT : O
@ 6063—=T5 ALUNINUM STV SVOURTING ANGLE - — | —l=—o0.125 TN
6063—T5 ALUMINUM 1 _ | o
L S 7
6.000 — 1.500 2 =
| e SRR . -
I <§ SSNSSSSTSSSSIRON i @ 6063—T5 ALUMINUM | L RICE
N Q S —1 1.500 ENGINEERING
TR\ - : R SiERE s | L
- Jxemburg,
8 N 0.313 ——§~— _ —— s S RL A bhona: 920.845.1042
! = 6063—T5 ALUMINUM e
\\ & — 1.500 _'—‘ |-—_ Taazs Fir;aNo: F-2183
. = L. David Ri
OOV WD NN NN NN NN NN Ragzs:rmm:'lceNo 81248 %

0.121 — I|--'—

J%% LOUVER BLANK—OFF
@ STEEL_TusE @ 6063—T5 ALUMINUM @ 6063—T5 ALUMINUM




|‘°‘ 0.875
l

’-e——— 4.000 —
%L— 0.081 iM

| .

DAMPER HEAD/SILL
6063—T5 ALUMINUM

4‘

©
o
o
*
l —e=t=— 0.125

<'—<>|— 1.000

0.500

3 L==— 2.500 —‘==l

0.125 DAMPER JAMB
—CTU’Q_—{L @ 6063—T5 ALUMINUM

DAMPER LINKAGE BAR
MATERIAL VARIES

i

0.062 —

(

(40) RBER-ME

6063—T5 ALUMINUM

j—

DAMPER AXLE BUSHING (445" 1G.)

@ MATERIAL VARIES

SUBBORT AR, MULLION SLEEVE BRACKET
6061-T6 ALUMINUM 5052-H32 ALUMINUM

—t =— 0.655

lj_ 0.479

0.317 2.310

——'=-| <— 0.219
—c |@7 VARIES

O r

DAMPER BILADE SEAL DAMPER JAMB SEAL
@ MATERIAL VARIES 007" SS

1.061

L

0.061

ARANO

o ~_~ KNURL PIN 0
- Nl :
DAMPER BLADE &
6063—T5 ALUMINUM L|° e ‘bl N = 3.620 |
o™~
D), (1L )
0.618 i
T PIN A N PIN ?
0.376 BUSHING \
RETAINING RING LEVER
)
; NON-DRIVE_DAMPER_AXLE ASSY. DRIVE-SIDE_DAMPER AXLE ASSY,
@ MATERIAL VARIES @ MATERIAL VARIES
7y

=

—=  2.000 ‘<'~
—= 1.584 ’-Q*

— |<'— 0.250

I
L—‘)— 5250 ———
|<='— 0.125

¥

0.063 —==||-=’l

_

—e=] 1.250 |==:— 0.750 —= B

—= 1.250

‘CJ 1.000

8
Ti ’
S F’58Ei §RAe "
6063—T5 ALUMINUM

1257 /154

;

)

o

N —

9! N
2 L | =

Ogg
s ]

%) . O g ©
345 (f)
g IS & =z
[= S [ 7 B [ ] (@]

l_
Wss| 3
23 o
%=, 9%
G024
§5;>m8“-‘
=3 33> 2
Sl © O [
OF RS-
QL Fn
20O =
(\21‘58h§|_§0—
a = = —
o O O
0 O =Z g
< ID‘(D_
]
) o =
N _
. %)
)—
=

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 9208451048
WAL RCe-InC.oom

Texas Firm Mo: F-2183
\.. David Rice
Ragistration No: 81248




—== 1.584
rﬂ_ ALUMINUM

MULLION
LOCATION
e
g HW
ALUMINUM MULLION END CAP

FOR _SLEEVE MOUNT
5052—-H32, 0.25 ALUMINUM

0.313 STEEL

6.0 MIN ————=

”’I”‘W

QUANTITY VARIES WITH /)

FASTENER TYPE

QUANTITY VARIES WITH
FASTENER TYPE

FIELD DRILLED

~ 4+

< LENGTH =]
- CENTERED

)l DRAIN HOLE FOR PAINT PROCESS
Ké) (é‘ O O O O O O

STEEL
MULLION
LOCATION

O O G-(

PERIMETER WELD
3,

+ + + o+

L__—TT N

F”F

n
w
DIM DESCRIPTION LIFTING LUG ¢
A 20.375/0.50 FOR 1/49 FASTENER IN ALUMINUM/STEEL 0.313 STEEL . e
A 20.563/0.75 FOR 3/80 FASTENER IN ALUMINUM/STEEL FILLER > ];:D}g{“:gﬂﬁ:: ]
8  FASTENER SPACING DISTANCE
C  >FASTENER CLEARANCE HOLE DIAMETER - T
D  2FASTENER SUBSTRATE EDGE DISTANCE - LENGTH =]
GROUP CENTER = CENTER OF FASTENER HOLE PATTERN SUB TE EDGE WELD BREAK ALLOWED
AT GUSSET(S
L e RS Cuses
o LENGTH - W ——F ===
A QUANTTY VARES W | e
] h Hz-l [ FASTENER TYPE e | & | EXTRUDED ANGLE OR (F REQUIRED) TWO WELD STYLE
A E D o | WELDED PLATES 4"x4" TRIANGLE VARIES —o| fo— OPTIONS
O & ONE AT CENTER %2", 2
lf i LUMINUM LI OR ONE NEAR EACH END| I R 5]
z B B MULLION £ 31 w \WSSE/ yZ
£ L_‘;O\é/ G{ () LOCATION g 7 . 2 E YN
(] ©w
< © -~ SUBSTRATE EDGE $ s // 5 g 1/4N4
Hl_ +_ N FI_E{_LD DRILLED / i W E i <PILLER
A / QUANTITY VARIES WITH
| | / FASTENER TYPE
B/2
! B \_ QUANTITY VARIES WITH A O SIDE VIEWS ~ FILLER MATL.
— A FASTENER TYPE SHOWN AT  ALUM=4043 OR 5356
? L/" )] 1/2 SCALE STEEL=E70XX
@ -
5052-H32, 0.25 ALUMINUM VARIES, SEE B.O.M. & TABLES BELOW
MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TaBLE, 2 OF 2
LOUVER|SUBSTRATE| LOUVER [GUSSET|MIN CUT| MAT'L | PRGCESS LOUVER|SUBSTRATE| LOUVER [GUSSET|MIN CUT| MAT'L | PROCESS
HEIGHT |LEG THK.[LEG THK.[ THK. |LENGTH| TYPE TYPE HEIGHT {LEG THK.|LEG THK.] THK. }LENGTH| TYPE TYPE
£144 z21/2 zl/2 NA 165 [606]1-T&|EXTRUDED 96 21/2 z21/2 NA 6.6 6061-T6|EXTRUDED
<144 27/16 27/16 NA 24 A36 ROLLED 296 23/8 23/8 NA 12.34 STEEL | ROLLED
<144 21/2 21/2 NA 185 A36 ROLLED <96 27/16 27/16 NA 9 STEEL | ROLLED
<144 25/16 2l/4 25716 20 6061-Té6| WELDED $96 25716 21/4 25/16 9 6061-T6) WELDED
s144 25716 23716 23716 20 STEEL | WELDED 96 25716 23/16 25/16 9 STEEL | WELDED

8/25/2010

DATE

OF 21

MES
1:2.2
21

CAD DRAWING NO

SHEET N(O.

SCHBEOTMD

DRAWN BY
SCALE

The look that works™
SCHOFIELD, WISCONSIN 54476
715=359-6171

SCH601MD LOUVER
SLEEVE /CONTINUQUS MOUNT

PART PROFILES

IANIROIERRE

)\

W/ AND W/O VCD—40

TITLE

RICE

ENGINEERING

105 School Craek Trail
Luxemburg, Wi 54217
Phore: 920.845.1042
Fax:  920.845.1048
WYW.NCE-ING.Com

Taxas Firm No: F-2183
L. Davig Rice
Registration No: 81248

Y/

WTIOHAL BN

A RSN ER

AUG 29 208




